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Begin by removing nearly all content …

F. William Lawvere on Category Theory



Consider the following Preference Schedule for an election.

	Voters
	22
	15
	7
	4
	3

	1st
	A
	B
	D
	D
	C

	2nd
	E
	D
	E
	C
	D

	3rd
	B
	C
	C
	B
	A

	4th
	D
	E
	B
	A
	E

	5th
	C
	A
	A
	E
	B


1.) Find the winner of the election using

a) the Plurality method
Winner using Plurality is ________________



A has _______ first place votes.





B has _______ first place votes.





C has _______ first place votes.





D has _______ first place votes.





E has _______ first place votes.


b)
the Borda Count method.   (Show totals)

Winner using Borda Count is ______________


A has _______ points.






B has _______ points.





C has _______ points.





D has _______ points.





E has _______ points.

Problem (1.) continued
	Voters
	22
	15
	7
	4
	3

	1st
	A
	B
	D
	D
	C

	2nd
	E
	D
	E
	C
	D

	3rd
	B
	C
	C
	B
	A

	4th
	D
	E
	B
	A
	E

	5th
	C
	A
	A
	E
	B


c) the Plurality–with–Elimination method.    
Winner using P w/E is _______________

d)
the Pair wise Comparison method.   

Winner using pair wise comparison is _______
Number of Wins for

A  ______

B  ______

C  ______

D  ______

E  ______

e)   Is there a Condorcet candidate in this election?  Why or why not.
1 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
An election is held between 4 candidates (A, B, C, and D) using the Borda count method.  There are 35 voters.  After the ballots are in and counted A has 83 points, B has 95 points, and C has 79 points.  How many points did D receive and who won the election?


(Hint:  If there are 4 candidates how many “points” is one ballot worth?  How many points is the total voting (35 ballots) worth?)

2 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
Consider the following preference schedule for president of your organization.

	Voters
	14
	10
	8
	4
	1

	1st
	C
	A
	B
	D
	A

	2nd
	D
	D
	A
	B
	B

	3rd
	A
	B
	D
	A
	D

	4th
	B
	C
	C
	C
	C



a)

If you are candidate D what voting method would you choose to ensure your election as President?

b)
Assume that the candidate who came in second will be named vice-president.   If you are 


candidate C and you do not want the responsibility of being president but would like to be vice-president, which voting method would you choose so that you would be elected to that office?

3 MACROBUTTON MTPlaceRef \* MERGEFORMAT .  
Describe the difference between extended ranking and recursive ranking.
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